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03 Al&=CHYI 1,152 951 201
O 2 CCTV x| 160,000, 00024+0. 72% 1,152
CCTVESRRIME 75 1,600,000 65,000 1,535,000
X 800,000
= 240,000
2 560,000
401 N&HI LSO 1,600,000 65,000 1,535,000
X 800,000
= 240,000
2 560,000
01 Al&H 1,597,600 65,000 1,532,600
O CCTV 2RIMEl 75 1,507,600, 00024 1,597,600
X 800,000
= 240,000
2 557,600
03 Al&=CHYI 2,400 0 2,400
O Al&=oi| 1,600,000, 00024+0. 15% 2,400
NEEEET 608,891 222,951 385,940
= 4,572
< 9,572
2 594,747
ERIEEEmE 18,000 16,000 2,000
< 2,000
2 16,000
201 Lt ey| 18,000 16,000 2,000
< 2,000
2 16,000
01 AFR 22l 18,000 16,000 2,000
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M JI2ZAA
. L3 D|etEs
=@l NEZE35t (e ®d)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
O SHBSNE2HH| 18,000,000& 18,000
= 2,000
= 16,000
EHOIXIZ2Z 533,160 152,760 380,400
201 Lty 143, 160 152,760 29,600
02 Z=23| 143,160 152,760 A9,600
O 3322 2 HA 6,600
0 &z MIIeZ 550,000+ 12& 6,600
O AEZEHISKIL 136,560
0 ZZHO0IXl SERANES
6,000,000&*12& 72,000
0 ZE3t0t= EHIOIX 370,000 12& 4,440
SHel sl 1,080
o St=E0el 76,0002 94 684
o I=&0el 33,0003 * 1204 396
0 SHIOIXI AH 1,980,000 *12& 23,760
0 &Za 1,840,000+ 12& 22,080
0 OICIHEE 200,000 & +3CH+12& 7,200
0 PCAHERE 500,000&*12& 6,000
207 HSIHEH| 350,000 0 350,000
02 HEDNEHI 350,000 0 350,000
O ZHIOIXI JHH 350,000, 000& * 14! 350,000
405 KHAHE S| 40,000 0 40,000
01 ML 2EFHSHI 40,000 0 40,000
O &3 40,000,000 *14] 40,000
230l 43t 30,000 30,000 0
== 3,000
i 27,000
202 o4t 1,000 1,000 0
01 =LHOAHI 1,000 1,000 0
O XIEXHs #A& (5L, 1,000,000& 1,000
307 QI2to1 & 29,000 29,000 0
& 3,000
= 26,000
02 BIPABAAHE S 14,000 14,000 0
O #=Zsiole 22 XA 14,000,000& 14,000
& 3,000
= 11,000
04 DIZISHALAIRIE X 15,000 15,000 0
O =202 sEMESH AL
15,000,000& 15,000
D2 dHANSEXA 16,716 13,716 3,000
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A JIEIZA
M Moo J|gEtE
©9l: XNt (S92
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
= 4572
< 4,572
2 7,572
307 BI2HOI 16,716 13,716 3,000
= 4,572
< 4,572
2 7,572
02 SR HAEE 6,716 13,716 3,000
O Z230ISYR 2XXI2 16,716,002 16,716
= 4,572
< 4,572
2 7,572
EEDIE 11,015 10,475 540
201 Ler2 Y| 6,910 5,770 1,140
01 AFRZ2IH] 6,910 5,770 1,140
O errgt| 5,650
0 PO £ 4
50,0002+ 13742 650
0 HESDS D 20, 00024+2002 4,000
HBasABTNE LS
100, 0002%10% 1,000
O 294y 1,260
0 NYH2Bst SXOIsl AALY
70,00024+901+25| 1,260
202 04| 1,775 1,775 0
01 =00t 1,775 1,775 0
O Zsleins L NAF LS FX
300, 00024453 1,500
O ZEsHs=YANS 2ot 55,00024+50! 275
301 LBHR AL 2,330 2,930 £600
09 BAFRHIZAE 2,330 2,930 2600
O BLOHWO2ADAAIE(E)
55,00024+62! 330
O ITZAZS(ZATH) 20, 00024+2021+52! 2,000
DIHFR = 518,917 178,003 340,824
= 120,000
2 398,917
EEEEEE] 518,917 178,003 340,824
= 120,000
2 398,917
KI2IAH 01 29 T ALY 73,447 135,513 £62,066
101 Q1218 2,907 13,536 £10,629
04 JZR2ZXS2 2,907 13,536 £10,629
O =3 44,6401+ 1914602 2,679
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S DS
BE: QlYEYE X
SHol: DliRe 583

(9l @)
S - - BREH) - MRAR - BaS of vt o HI DS
O =RAHLEE= 2,678,400&%3.035% 82
O FILEER 81,280&%3.275% 3
O ng=82 2,678,400&1.3% 35
O tHEE= 2,678,400&*4.0% 108
201 £EH=3gH| 40,540 40,540 0
01 At=2telH] 25,540 25,540 0
O 430123t EE22 WA 4,000
0 2=l 1,000 %4, 0000H 4,000
O &EIAOISIH S+ MH 16,540
0 e 1,300, 000& 3 2=+33! 11,700
0= 110,000& %110 233 3,630
0 A% 55,0003 1104 222 1,210
O &HEAH0ISIt 23] ppt MA
5,000,000 14! 5,000
03 &A=& 15,000 15,000 0
O XI2I&HAHIOIE SESA 15,000,000& 15,000
301 et A= 10,000 10,000 0
09 At 2ai= 10,000 10,000 0
O &HEIH0ISIt 2SlAL A2
5,000&2,000¢! 10,000
401 AIZHIZL S0 20,000 20,000 0
01 Al£H] 20,000 20,000 0
O &HE0ISI 2= &X
10,000, 000& »24! 20,000
Olchdet 23 17,070 14,180 2,890
201 deL=2 | 1,470 980 490
01 AtR2t2lH 1,470 980 490
O =ZHI(DIHEHHRFN)
7,000&*321x70 1,470
202 04l 12,600 10,200 2,400
01 =LHOHI 12,600 10,200 2,400
O JI28R==0H| 7,200
0 Dlefde D20l
200,0002%32!x12& 7,200
O OISt AIEFE HLE2
150,000 #3021+ 122 5,400
203 PR =2 3,000 3,000 0
03 AIZFAIHR =] 3,000 3,000 0
O OISt A=A 3,000,000 3,000
OlchHMEf A 28,400 28,400 0
201 ZetE2g| 8,400 8,400 0
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S A

JIE A
Olch™=A

= X =3
S BB SER = (Er9): &)
. , - PSEL= =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
01 AFR2eH] 5,400 6,400 0
O DINEAY E22 M 2,000,0002! 2,000
O =MgTAIR| FE4Y
70,0002+ 1001+23] 1,400
O DIHFEAR ppt FIZ 1,500, 0002/+23] 3,000
03 BAL2 L] 2,000 2,000 0
O DIHEEEAIY] R4A HIXIOR IR
2,000,002 2,000
207 1Nt 20,000 20,000 0
01 ST EA| 20,000 20,000 0
O DIHE2EANY SIPESH]  20,000,0002%14! 20,000
B Bt BAMBRR £4 400,000 0 400,000
= 120,000
2 280,000
401 AIZBIL 2T 400,000 0 400,000
= 120,000
2 280,000
01 AI&H] 397,120 0 397,120
O Hetah gedt BN £4
397,120,000 141 397,120
= 119,136
2 277,984
03 Al&=CHY| 2,880 0 2,880
O Nt gt BB £ 20
400,000, 00024+0.72% 2,880
= 864
2 2,016
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